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BT FRER B B SHHDiELE 3o 3%-131 9 L-134 tr9 L-137
(Bg./kg) (Bqkg) (Bg. ke)

wmeET H23.6.2 @Heu\f:(mjﬁéﬁ) ND ND ND
ERlhH H23.6.2 BERLUWLM=T (FEES) ND ND ND
LVhET H23.6.2 BERLLM= 1 (M) ND ND ND
RETH H23.6.2 BEARLL= 1 (FEER) ND 140 150
& T H23.6.2 BARLL=TF (FEER) ND ND ND
BBl H23.6.2 B Aa (MEE%) ~ND ND ND
BmEW H23.6.2 Eﬁv«ré'r(#ﬁéﬁ) ND . ND ND
i H23.6.2 I/X347 (FER) ND 84 78
WhEs H23.6.2 TUX(FEER) ND 21 24
{RES H23.6.2 RARLW =T (FEih) ND 590 620
% LLET H23.6.2 HoU (EEh) ND ND ND
- FAREHET H23.6.2 HLU (FEih) ND ND ND
HEA T H23.6.2 A (FEh) ND 12 ND
EZAH H23.6.2 | SF(Bh) ND ND ND
TR ET H23.6.1 SE(FEHh) ND ND ND
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5 PRERE B A#loEE Ao %R-131 7 L-134 T L-137
(Bakg) (Bakg) (Bakg)
s Ea) H23.6.2 AE (FBih) ND ND ND
s HT H23.5.31 [PhIEHES (Fith) ND 9.4 ND
RR N H23.6.1 ShHIFEHZS (F) ND ND F‘ND
L) | H23.6.2 515::5}»%5 (Fith) ND ND ND
BB H23.6.2 RENYLF ND ND | 18
BRI H23.6.2 faEnyr=it ND 20 31
(===t H23.6.1 tELY =+ ND ND ND
LV E T = F08T H23.6.2 ol ND - 110 96
LN/ I ET H23.6.2 ol ND 66 71
L\b%ﬁi#%ﬁlﬁﬁr H23.6.2 f=lFoC ND 180 150
& 'H23.6.2 fziFoZ ND 320 _350
ﬁ*iﬁ?ﬁ H23.6.2 f=itoC ND _430 _460
KEF H23.6.1 gt ND - 90 91
FHF H23.6.2 =D ND 120 120
=3&HET H23.6.2 il ND 340 340
e H23.6.2 = p g0 ND _600_ 630
AT H23.6.2 fzroc ND 280 310
SEYTET H23.6.2 =D ND _420 420
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BT - IRERB B ABlDiEsE I F%K-131 tHL-134 timH L-137
(Bakg) (Bakg) (Bgq kg)
E RET H23.6.2 it ND 240 250
JURET H23.6.2 =+ ND 220 220
[icpe) H23.6.2 f=lFH ND 210 220

BEmEERCE OGRS, FHERS ) DB ERFIE

AV 3R-131:2,000Bq/kg, 2277 L :500Ba/kg (L™ Li-134, L™ L-137D B EE)




